White Rose
MATHS

Year 6 Block 2 Unit: Four Operations
Key Vocahulary:
addition total | column subtraction | .more altogether Adifference
Asubtract less column addition Aum estimate place value
number facts irwerse operation prime Aquared cubed
long division | short division | long multiplication | short multiplication

What will I know by the end of this unit?

Add Whole Numbhers: Subtract Whole Numbers: Squared .and Cubed.:
! .4-5.8-6-4. - — : - - Square rumbers result from .o number
NEIESAEIEY | .3.5_6/7’.1},_/.12/. heing multiplied by itself:
| - 52
6 9 3.6 1 ' 3/4/7.6 5X5=25
1 111 32 2 6 6 Cuhbe rumhers result from .o number hy
twrn. Regroup tens, hundreds, column in turn. Exchange tens,
thousands, ten thowsand .and so on hundreds, thousands .and/or ten 2X2X2=28
a5 required. thousands .and 50 on os required. (2X2)X2=28
Multiply up to b-digit by 2- | Short division: Long division:
igik: 529 = 4 =1,322 13
Thausands || Hindrede Tane Ones. 35q - l6 = 22 J"7
L 26 7 0000|000
- 51 eaeelodoo 212
ETQOHH qu3 5 9
17068 xk& ©0/00/00 s L3 | 2 \
+128010 x3W gg@ —
| 4507 8 20 (2) 32 3.9
IS 16 _ 3 2
Prime Numhbers: @ 48 7
A prime numhber has only 2 [ 32/ 2r3 6
foctors. | .and itself. 4525]!
64
2, 3, 4,5, 7,11, 13, 17, 19, @ '
23, 249, 31, 33, 37, 41, 43
Reason from Known Facts: Common Factors: Common Multiplies:
Factors of 48: Multiplies of 3:
90 =+ 10 = 9 | 2 3 4 6 8 12 16 24 3 ...18 21 24 .. 39 42
So, 90 + 20 = 4.5 and 90 + 5 =18 | 48
Factors aof 30: Multiplies of 7:
16 X 9 = |44 I 2 3 5 6 10 15 30 7 14 21 28 35 42
So, 1.6 X 9 = 14.4 .
0 Commaon factors: 1, 2, 3, 6 Commaon multiplies: 21, 42 ...
Mental Calculations .and Order of Operations:
Estimation: B | Bracktis 10 X (b +2) =10 X 6 =60
o _ . 0 Order 5+ 22=5+ 4L =4
Subdivide line to estimate: |7 D Division 10+ 6+ 2=10+ 3 =I3
M | Multiplication 0 -4 X 2=10-8=2
-<|‘3 0 8 16 20 2|4 A Addition 10 X 4 + 7 =40+ 7 = 47
) S Subtraction 0+ 2-3=5-3=2




